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Read the following passage and answer the questions given below:

Organisations are institutions in which members compete for status and power. They compete for resource of the organisation, for example finance to expand their own departments, for career advancement and
for power to control the activities of others. In pursuit of these aims, grouped are formed and sectional interests emerge. As a result, policy decisions may serve the ends of political and career systems rather than
those of the concern. In this way, the goals of the organisation may be displaced in favour of sectional interests and individual ambition. These preoccupations sometimes prevent the emergence of organic
systems. Many of the clectronic firms in the study had recently created research and development departments employing highly qualified and well-paid scientists and technicians. Their high pay and expert
knowledge were sometimes seen as a threat to the established order of rank, power and privilege. Many senior managers had little knowledge of technicality and possibilities of new developments and electronics.
Some felt that close cooperation with the experts in an organic system would reveal their ignorance and show their experience was now redundant.

The theme of the passage is
groupism in organizations.

individual ambitions in organizations.
frustration of senior managers.

emergence of sectional interests in organizations

Read the following passage and answer the questions given below:

Organisations are institutions in which members compete for status and power. They compete for resource of the organisation, for example finance to expand their own departments, for carcer advancement and
for power to control the activities of others. In pursuit of these aims, grouped are formed and sectional interests emerge. As a result, policy decisions may serve the ends of political and career systems rather than
those of the concern. In this way, the goals of the organisation may be displaced in favour of sectional interests and individual ambition. These preoccupations sometimes prevent the emergence of organic
systems. Many of the electronic firms in the study had recently created research and development departments employing highly qualified and well-paid scientists and technicians. Their high pay and expert
knowledge were sometimes seen as a threat to the established order of rank, power and privilege. Many senior managers had little knowledge of technicality and possibilities of new developments and electronics.
Some felt that close cooperation with the experts in an organic system would reveal their ignorance and show their experience was now redundant.

"Organic system" as related to the organization implies its
growth with the help of expert knowledge.

growth with input from science and technology.

steady all around development.

natural and unimpeded growth.

Read the following passage and answer the questions given below:

Organisations are institutions in which members compete for status and power. They compete for resource of the organisation, for example finance to expand their own departments, for career advancement and
for power to control the activities of others. In pursuit of these aims, grouped are formed and sectional interests emerge. As a result, policy decisions may serve the ends of political and career systems rather than
those of the concern. In this way, the goals of the organisation may be displaced in favour of sectional interests and individual ambition. These preoccupations sometimes prevent the emergence of organic
systems. Many of the electronic firms in the study had recently created research and development departments employing highly qualified and well-paid scientists and technicians. Their high pay and expert
knowledge were sometimes seen as a threat to the established order of rank, power and privilege. Many senior managers had little knowledge of technicality and possibilities of new developments and electronics.
Some felt that close cooperation with the experts in an organic system would reveal their ignorance and show their experience was now redundant.

Policy decision in organization would involve
cooperation at all levels in the organization.
modernization of the organization.

attracting highly qualified personnel.

keeping in view the larger objectives of the organizations.

Read the following passage and answer the questions given below:

Organisations are institutions in which members compete for status and power. They compete for resource of the organisation, for example finance to expand their own departments, for career advancement and
for power to control the activities of others. In pursuit of these aims, grouped are formed and sectional interests emerge. As a result, policy decisions may serve the ends of political and career systems rather than
those of the concern. In this way, the goals of the organisation may be displaced in favour of sectional interests and individual ambition. These preoccupations sometimes prevent the emergence of organic
systems. Many of the electronic firms in the study had recently created research and development departments employing highly qualified and well-paid scientists and technicians. Their high pay and expert
knowledge were sometimes seen as a threat to the established order of rank, power and privilege. Many senior managers had little knowledge of technicality and possibilities of new developments and electronics.
Some felt that close cooperation with the experts in an organic system would reveal their ignorance and show their experience was now redundant.

The author makes out a case for

organic system.

Research and Development in organisations.

an understanding between senior and middle level executives.

a refresher course for senior managers

Read the following passage and answer the questions given below:

Organisations are institutions in which members compete for status and power. They compete for resource of the organisation, for example finance to expand their own departments, for career advancement and
for power to control the activities of others. In pursuit of these aims, grouped are formed and sectional interests emerge. As a result, policy decisions may serve the ends of political and career systems rather than
those of the concern. In this way, the goals of the organisation may be displaced in favour of sectional interests and individual ambition. These preoccupations sometimes prevent the emergence of organic
systems. Many of the electronic firms in the study had recently created research and development departments employing highly qualified and well-paid scientists and technicians. Their high pay and expert
knowledge were sometimes seen as a threat to the established order of rank, power and privilege. Many senior managers had little knowledge of technicality and possibilities of new developments and electronics.
Some felt that close cooperation with the experts in an organic system would reveal their ignorance and show their experience was now redundant.
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10 comprehension

Question Description

The author tends to the senior managers as
ignorant and incompetent.

a little out of step with their work environment.
jealous of their younger colleagues.

robbed of their rank, power and privilege.

Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students possess better memory and can reproduced the subject-matter in the same manner
in which they have studied. Whereas majority of students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but in recalling it at the time of
revision or in the examination. Why these differences in the mental faculties? These differences in the memory can be attributed to various factors such as in-born qualities, social set-up, reading habits,
concentration during study, interest in grasping the subject-matter etc. ...Memory can be sharpened by regular practice and the technique of study. A good memory promises you good knowledge, which in turn
brings better scores in the examination.

Read the following options and choose the closest in meaning to the phrase “ God-gifted quality”
Divine feature

Divine characteristic

God-given attribute

God-given gift

Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students possess better memory and can reproduced the subject-matter in the same manner
in which they have studied. Whereas majority of students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but in recalling it at the time of
revision or in the examination. Why these differences in the mental faculties? These differences in the memory can be attributed to various factors such as in-born qualities, social set-up, reading habits,
concentration during study, interest in grasping the subject-matter etc. ...Memory can be sharpened by regular practice and the technique of study. A good memory promises you good knowledge, which in turn
brings better scores in the examination.

Identify from the passage the word or phrase synonymous to “inherent cognitive or perceptual powers of the mind”
concentration

in-born qualities

memory

mental faculties

Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students possess better memory and can reproduced the subject-matter in the same manner
in which they have studied. Whereas majority of students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but in recalling it at the time of
revision or in the examination. Why these differences in the mental faculties? These differences in the memory can be attributed to various factors such as in-born qualities, social set-up, reading habits,
concentration during study, interest in grasping the subject-matter ctc. ...Memory can be sharpened by regular practice and the technique of study. A good memory promises you good knowledge, which in turn
brings better scores in the examination.

The factors such as in-born qualities, social set-up, reading habits, concentration during study, interest in grasping the subject-matter etc. are Known to ------------- X
affect memory

be the factors of differences

cause differences

differentiate in memory

Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students possess better memory and can reproduced the subject-matter in the same manner
in which they have studied. Whereas majority of students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but in recalling it at the time of
revision or in the examination. Why these differences in the mental faculties? These differences in the memory can be attributed to various factors such as in-born qualitics, social set-up, reading habits,
concentration during study, interest in grasping the subject-matter etc. ...Memory can be sharpened by regular practice and the technique of study. A good memory promises you good knowledge, which in turn

brings better scores in the examination.

Based on the sense of the passage, and state whether the following statements are true or false:
(i) Memory is sharp, that it can lose its sharpness.
(ii) Regular practice and methodical study can help improve it.

(i) is false; but (ii) is true.

both the statements are false.

(i) is true; but (ii) is false.

both the statements are true.

Read the following passage and answer the questions given below:

Memory is a God-gifted quality. The importance and the part played by it in the learning process is well-recognized. Some students possess better memory and can reproduced the subject-matter in the same manner
in which they have studied. Whereas majority of students complain that they study a lesson but soon after forget that. This difficulty lies not in understanding the subject-matter but in recalling it at the time of
revision or in the examination. Why these differences in the mental faculties? These differences in the memory can be attributed to various factors such as in-born qualities, social set-up, reading habits,
concentration during study, interest in grasping the subject-matter etc. ...Memory can be sharpened by regular practice and the technique of study. A good memory promises you good knowledge, which in turn
brings better scores in the examination.

A good memory promises you good knowledge.”



Identify from the statements given below, the closest equivalent to the above sentence.

A bad memory does not promise you a good knowledge.
A good memory does not promise you a bad knowledge.
A bad memory does not promise you a bad knowledge.

A bad memory promises you good knowledge.

Correct Answer A

Marks 1

Question Description

In a word, the position of a particular letter L is 5th from the left side and 6th from the right-hand side. How many letters must be eliminated to make it a 7 letter words.

A 2
& 3
c 4
° 5
Correct Answer B

Marks 1

Question Description

The number of common terms in the two sequences
17,21,25,...,417 and 16, 21, 26,..., 466 is

A 78
& 19
¢ 20
° 77
Correct Answer c

Marks 1

Question Description

Choose the conclusions which logically follow from the given statements
Statements

All the papers are books.

All the bags are books.

Some purses are bags.

Conclusions:
+.Some papers are bags.
2.Some books are papers.

3. Some books are purses.

A Only (1)

8 Only (2) and (3)
¢ Only (1) and (2)
° Only (1) and (3)
Correct Answor 8

Marks 1

Question Description

P,QR,S T, U,V &W are sitting round the circle and are facing the centre.

P is second to the right of T who is the neighbour of R & V.
i.S is not the neighbour of P.
ii. V is the neighbour of U

v.Q is not between S & W and W is not between U & S.

Which two of the following are not neighbours?

A RV
® uv
¢ RP

o ow
Correct Answer A

Marks 1

Question Description

A family consists of six members P, Q, R, X, Y and Z. Q is the son of R but R is not mother of Q. P and R are a married couple. Y is the brother of R. X is the daughter of P. Z is the brother of P.

How is Q related to X?

Father
Brother
Uncle

Husband

Correct Answer B

Marks 1

16 Question Description

In the following question, two statements numbered | and Il are given. There may be cause and effect relationship between the two statements. These two statements may be the
effect of the same cause or independent causes. These statements may be independent causes without having any relationship. Read both the statements in each question and
mark your answer as

Statements:

. The government has recently fixed the fees for professional courses offered by the unaided institutions which are much lower than the fees charged last year.

1. The parents of the aspiring students launched a severe agitation last year protesting against the high fees charged by the unaided institutions.



Statement | is the cause and statement Il is its effect
Statement Il is the cause and statement | is its effect
Both the statements | and Il are independent causes

Both the statements | and Il are effects of independent causes

Correct Answer B

Marks 1

Question Description

In the following questions a number series is given. After the series a number is given followed by (a), (b), (c), and (d). You have to complete the series starting with the given number, following
the sequence of original series and answer the question that follows the series.

What will come in the place of (C)?

4 13 40 135 552 2765

2ABCD
A 123
& 133
© 127
° 131
Correct Answer A

Marks 1

Question Description

Late: Tale :: Cafe: ?
Face
Caef
Cefa

caaef

Correct Answer A

Marks 1

Question Description

What should come in the place of question mark (?) in the following number series?
4,6,9,13.5,20.25, 30.375,?

» 40.25

? 455625
€ 42.7525
° 48.5625
Correct Answer o

Marks 1

Question Description Ramesh and Ganesh can together complete a work in 16 days. After seven days of working together, Ramesh got sick and his efficiency fell by 30%. As a result, the completed the work in 17 days instead of 16 days. If Ganesh

had worked alone after Ramesh got sick, in how many days would he have completed the remaining work?

A 12

B 11

¢ 135
o 145
Correct Answer B

Marks 1

Question Description

Select a suitable figure from the four alternatives that would complete the figure matrix.

1) (@ 3y @

" 1
& 2
¢ 3
° 4
Correct Answer B

Marks 1

22 Question Description

Near the “x” restaurant few girls waiting for hiring taxi and they saw a taxi driver kidnapping a girl and ran away. These girls took the number of licence plate. So they would be able to complain in the police
station.

A. The two women seem to agree that the plate number starts out with the letter TS.

B. Three women seem to agree that plate number ends with 1106.

C. Two of them agree with the second letter is ‘x” and the other three of them think third letter is

What is number on license plate?

TSXZ1106



Correct Answer

Marks
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TS1106XZ
TSX1106Z

TX1106SZ

It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?
Sunday

Saturday

Friday

Wednesday

c

4

The present age of Bob is equal to Abby’s age 8 years ago. Four years hence, the respective ratio between Bob’s age and Abby’s age will be 4 : 5 at that time. What is Bob’s present age?
24 years
32 years
40 years

28 years

D

1

QAR, RAS, SAT, TAU,
UAV
UAT
TAS

TAT

1296, 2401,256, 4096 Find the odd one of the series
1296
2401
4096

256

If the position of the first letter of English alphabet is interchanged with the position of the fourteenth letter second letter with the fifteenth letter in such a way that M is interchanged with Z then
which of the following letters will be 9th to the right of 17th letter from the right ?

F

E

Two train’s crosses each other in 14 sec when they are moving in opposite direction, and when they are moving in same direction they crosses each other in 3 min 2 sec. Find the speed of the
faster train by what percent more than the speed of the slower train?

16.67%
17.33%
16.33%

17.67%

Choose the conclusion which makes the argument invalid.

India makes vaccination available to all the countries and COVID cannot be controlled in isolation.
If India makes vaccination available to all the countries then COVID can be controlled.

Therefore, .....................

India makes vaccination available to all the countries

COVID can be controlled in isolation.

COVID can be controlled

None of the above

Kashmira facing towards south moved straight 8 km and from there turned to her right 90° and travelled 7 km. Then she took a 45° turn to her left and travelled 4 km. Where would she be now
with respect to the starting point?

South
South-west

North-east
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South-east

In the following questions, four jumbled words are given. Rearrange them and identify the word, which is the “Odd Man”. Mark its option given below as your answer:

airfdy
yuefbrar
hamrc

uuagst

A

4

Statement: A large number of people in ward X of the city are diagnosed to be suffering from a fatal malaria type.
Courses of Action:

1. The city municipal authority should take immediate steps to carry out extensive fumigation in ward X.
II. The people in the area should be advised to take steps to avoid mosquito bites.

Only I follows
Only II follows
Either I or IT follows

Both I and II follow

Three of the following four pairs are alike in a certain way and hence form a group. Which one does not belong to that group?
PARENT: RPBTEO

MOSTLY: SMPYTM

SIMPLE: MSJEPM

MOTHER: TMPRHD

In the question below is given four statements followed by four conclusions numbered LILIII and IV. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusion logically from the given statements disregarding commonly known facts.

Statements:

Some roads are glasses.
Some glasses are jugs.
Some jugs are trains.

Some trains are buses.

Conclusions:

. Some buses are jugs.
1.Some trains are glasses
. Some jugs are roads

v.Some buses are glasses

None follows
Only I follows.
Only I, follows.

Only L, Il and IV follows

A

4

Pointing a photograph, Sheela said, he is the only son of my grandfather’s only son. How is the boy in the photograph related to Sheela?

Brother
Cousin
Son

Cannot be determined

If RODENT is coded as OREDTN then what is SPIDER coded as
PDSIRE
PSDIRE
PSDIER

PDSERI



Correct Answer B

Marks 1

Question Description Pick the ODD man OUT

196, 169, 144, 121, 100, 80, 64

A 169
& 144
© 121
° 80
Correct Answer 5

Marks 1

Question Description

Find the missing character?

F w o
A J K
E M 1

A N
e P
c X
° D
Correct Answer D

Marks 1
Question Description

Statement: Should higher education be completely stopped for some time?

Arguments:
. No. It will hamper the country's future progress.

i Yes. It will reduce the educated unemployment.

Only argument | is strong
Only argument Il is strong
Either | or Il is strong

Neither | nor Il is strong

Correct Answer A

Marks 1

Question Description

Which of the following diagram indicate the relationship between Italy, Rome and world?

©o

° 00
0

c
D @
Correct Answer D

Marks 1

Question Description Pick the ODD man OUT
582, 605, 588, 611, 634, 617, 600

A 634
& 611
¢ 605
° 600
Correct Answer A

Marks 1

Question Description

A vessel contains a mixture of Grape, Pineapple and Banana juices in the respective ratio of 4 : 6 : 5. 15 litres of this mixture is taken out and 8 litres of grape juice and 2 litres of pineapple juice is
added to the vessel. If the resultant quantity of grape juice is 10 litres less than the resultant quantity of pineapple juice. What was the initial quantity of mixture in the vessel? (in litres)

A 120
& 150
© 105
° 135
Correct Answor o

Marks 1

43 Question Description

Read the following information carefully and answer the question below.

1. In a family of six persons, L, M, N, F, P, Q, there are two married couples.
2. F is grandmother of L and mother of M.

3. N is wife of M and mother of Q.

4. Q is the grand-daughter of P.

Which of the following is true?
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4% Question Description

L is the brother of Q.
L is the sister of Q.
M has three daughters.

None of these

Here are some words translated from an artificial language.
migenlasan means cupboard

lasanpoen means boardwalk

cuopdansa means pullman

Which word could mean "walkway"?
poenmigen

lasandansa

cuopeiselwrong

poenforc

D

1

A boy is looking for his mother. He went 90 metres in the east before turning to his right. He went 20metres before turning to his right again to look for his mother at his uncle's place 30 metres
from this point. His mother was not there. From here he went 100 metres to his north before meeting his mother in a street.
How far did the son meet his mother from the starting point?

110 m
100 m
90 m

240 m

In artificial language if

Plekapaki means fruitcake
Pakishellin means cakewalk
Treftalan means buttercup

Then what is fruitcup
pakitreft

plekaalan

shellinalan

pakialan

B

1

Obesity is a serious problem in this country. Research suggests that obesity can lead to a number of health problems including diabetes, asthma, and heart disease. Recent research has even
indicated that there may be a relationship between obesity and some types of cancer. Major public health campaigns that increase awareness and propose simple lifestyle changes that will, with
diligence and desire, eliminate or least mitigate the incidence of obesity are a crucial first step in battling this critical problem.

This paragraph best supports the statement that

Public health campaigns that raise consciousness and propose lifestyle changes are a productive way to fight obesity.
Obesity is the leading cause of diabetes in our country.
People in our country watch too much television and do not exercise enough.

A decline in obesity would radically decrease the incidence of asthma.

A

4

Find the wrong number in the following series?
1500, 1475, 1448, 1419, 1389, 1355, 1320

1475
1419
1389

1355

A Guarantee is a promise or assurance that attests to the quality of a product that is either
(1) given in writing by the manufacturer or (2) given verbally by the person selling the
product.

Which situation below is the best example of a Guarantee?

Melissa purchases a DVD player with the highest consumer ratings in its category.

The salesperson advises Curt to be sure that he buys an air conditioner with a guarantee.
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Question Description

The local auto body shop specializes in refurbishing and selling used cars.

Lori buys a used digital camera from her coworker who says that she will refund Lori's money if the camera's performance is not of the highest quality.

D

1

In the following questions, fours statements are given. Three of them are related in some way. Identify the “Odd man” and mark its letter as your answer.

People living in coastal areas are constantly under the threat of cyclone.
Tornadoes are common feature in some parts of America.
The explosion of the atomic bomb at Hiroshima caused large scale destruction.

In some countries where earthquakes occur frequently, houses are built with wood.

C

1

How many rectangle and square are there in the given figure?

15
16
25

13

Complete the series 6, 11, 31, 121, 601, ?

3369
3660
3601

6788

A man is walking with the speed of 2 km/hr and a train near by him passing with the speed of 62 km/hr with length of 400 meters. How much time the train will take to cross the person? (Both
train and man is going in same direction).

22 sec
25 sec
30 sec

24 sec

In each of the following questions two rows of number are given. The resultant number in each row is to be worked out separately based on the following rules and the question below the row is
to be answered. The operations of number progress from the left to right.

Rules:

i. If an even number is followed by another even number they are to be added.

ii. If an even number is followed by a prime number, they are to be multiplied.

iii. If an odd number is followed by an even number, even number is to be subtracted from the odd number.

iv. If an odd number is followed by another odd number the first number is to be added to the square of the second number.

v. If an even number is followed by a composite odd number, the even number is to be divided by odd number.

What is the product of the resultants of the two rows from below?
1.4518 12

.22149

75

48

45

None of these

In the question below is given four statements followed by four conclusions numbered LILIII and IV. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusion logically from the given statements disregarding commonly known facts.

Statements:
All flowers are windows.

No window is lake.

Some lakes are rivers.
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Correct Answer

Marks

Comprehension

Question Description

Correct Answer

Marks

Comprehension

Question Description

Correct Answer

Marks

Comprehension

All rivers are ponds.

Conclusions:
. Some ponds are flowers.

i.Some rivers are windows.
n.No pond is flower.

v.Some ponds are lakes.

Only I follows.
Only IIT follows.
Only either I or III follows.

Only either I or IIT and IV follow

D

1

DIRECTIONS: Answer the questions on the basis of the following information.

The plan above shows an office block for six officers, A, B, C, D, E, and F. Both B and C occupy offices to the right of the corridor (as one enters the office block) and A occupies an office to the
left of the corridor. E and F occupy offices on opposite sides of the corridor but their offices do not face each other. The offices of C and D face each other. E does not have a corner office. F's
office is further down the corridor than A's, but on the same side.

Who is/are F's neighbour(s)?
A only

Aand D

Conly

Band C

DIRECTIONS: Answer the questions on the basis of the following information.

The plan above shows an office block for six officers, A, B, C, D, E, and F. Both B and C occupy offices to the right of the corridor (as one enters the office block) and A occupies an office to the
left of the corridor. E and F occupy offices on opposite sides of the corridor but their offices do not face each other. The offices of C and D face each other. E does not have a corner office. F's
office is further down the corridor than A's, but on the same side.

D was heard telling someone to go further down the corridor to the last office on the right. To whose room was he trying to direct that person?
A

B

Study the following information carefully and answer the given questions

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is an illustration of input
and rearrangement.

Input: One for road 36 87 29 now 17

Step I: 17 one for road 36 87 29 now

Step 1I: 17 road one for 36 87 29 now

Step III: 17 road 29 one for 36 87 now

Step IV: 17 road 29 one 36 for 87 now



Step V: 17 road 29 one 36 now for 87
Step VI: 17 road 29 one 36 now 87 for
Step VI is the last step of the rearrangement of the above input.

As per the rules followed in the above steps, find out in each of the following questions the appropriate step of the given input.

Question Description

Step I of an input is : 19 water gas vapour 39 26 74 fall
Which of the following is definitely the input?

Gas 19 vapour water 39 26 74 fall
Gas vapour 39 26 74 fall water 19
Gas vapour water 39 26 74 fall 19

Cannot be determined

Correct Answer D

Marks 1

Comprefension Study the following information carefully and answer the given questions
A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is an illustration of input
and rearrangement.

Input: One for road 36 87 29 now 17

Step I: 17 one for road 36 87 29 now

Step II: 17 road one for 36 87 29 now

Step III: 17 road 29 one for 36 87 now

Step IV: 17 road 29 one 36 for 87 now

Step V: 17 road 29 one 36 now for 87

Step VI: 17 road 29 one 36 now 87 for

Step VI is the last step of the rearrangement of the above input.

As per the rules followed in the above steps, find out in each of the following questions the appropriate step of the given input.

Question Description

Step II of an input is : 39 yellow 63 79 blue white 47 house
Which of the following will be step VI?

39 yellow 63 79 white blue 47 house
& 39 yellow 47 white house 63 79 blue
39 yellow 47 white 63 house 79 blue

39 yellow 47 white 63 79 blue house

Correct Answer D

Marks 1

Comprehension Study the following information carefully and answer the given questions
A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is an illustration of input
and rearrangement.

Input: One for road 36 87 29 now 17

Step I: 17 one for road 36 87 29 now

Step II: 17 road one for 36 87 29 now

Step III: 17 road 29 one for 36 87 now

Step IV: 17 road 29 one 36 for 87 now

Step V: 17 road 29 one 36 now for 87

Step VI: 17 road 29 one 36 now 87 for

Step Vlis the last step of the rearrangement of the above input.

As per the rules followed in the above steps, find out in each of the following questions the appropriate step of the given input.
Question Description Input: desk 29 paper 19 card 34 bridge 57
How many steps will be required to complete the rearrangement?
Five

Seven

Four

Correct Answer A

Marks 1



